
SECOND YEAR EXAMINATION



Answer any 10 question from 1 to 12 each carries

State whether True or False

1. Working of market mechanism is the key feature of capitalistic economy.

കേ�ാള സംവിധാന�ിെ� �പവർ�നം �പധാന സവിേശഷതയായി വരു�ത മ്ുതലാളി�

സ�ദ��വ�യിലാണ.്

2. The usual shape of PPC is convex to the origin.

ഉതപ്ാദന സാധ�ത വ�കം േകാൺെവസ ആ്കൃതിയിലു�താകു�ു.

3. The price taking behavior is a features of

a.monopoly b.perfect competition c.oligopoly d.monopolistic competetion

വില സ�ീകരി�ൽ െപരുമാ� രീതി സവിേശഷതയായി വരു�ത്

a. കു�ക കേ�ാള�ിൽ b.സ�ൂർണ കിട മ�ര കേ�ാള�ിൽ c. ഒളിേഗാെപാളി
കേ�ാള�ിൽ d. കു�ക മ�ര കേ�ാള�ിൽ

4. The shape of AFC curve is

a.U shaped b.inverted U shape c.rectangular hyperbola d.horizontal

AFC വ�ക�ിെ�അകൃതി താെഴ പറയു�വയിൽ ഏതാണ?്

a. Uആകൃതി b.ഇൻെവർ�ഡ U്ആകൃതി c. റക�്ാ�ുലർ ൈഹ�ർ േബാള d. തിര�ച്ീനം

5.ഓ�േറഷൻ �പളയവുമായി ബ�െ��ിരി�ു�ു....... The shape of demand curve Q= a_bp is.............

Q= a_bpഎ� േചാദന വ�ക�ിെ� ചരിവ.്.........ആകു�ു.

6. Rise in demand due to fall in price is known as..............

വില കുറയുേ�ാൾ േചാദനം വർധി�ു�തിെനഅറിയെ�ടു�ത.്.............

7. Macro economics is also known as

a. price theory b.demand theory c.theory of income and a employment d.cost theory

�ൂലസാ��ിക ശാസ�്തം........എ�ും അറിയെ�ടു�ു



a. വിലാസി�ാ�ം b. േചാദനസി�ാ�ം c. വരുമാനം െതാഴിൽ സി�ാ�ം d. ചിലവ സ്ി�ാ�ം

8. If GDP stands for Nominal GDP,'gdp' stands for real GDP then GDP deflator equal to

a. gdp/GDP b. GDP/gdp c. GDP/gdp *100 d. None of these

GDPഎ�ത ന്ാമമാ�ത GDP യും, gdpഎ�ത യ്ഥാർ� GDP യുമാെണ�ിൽ GDPഡിേ��ർ

a. gdp/GDP b. GDP/gdp c. GDP/gdp *100 d. ഇെതാ�ുമ�

9. Difference between gross investment and depreciation is

a. inventory b.saving c.consumption d.net investment

െമാ� നിേ�പവും േതയമ്ാനവും ത�ിലു� വ�ത�ാസമാണ്

a. ഇൻെവൻ�റി b.സ�ാദ�ം c. ഉപേഭാഗം d.അ� നിേ�പം

10 wear and tear of capital due to continuous use

a. depreciation b.money flow c.real flow d.investment

തുടരുപേയാഗം മൂലമു�ാകു� മൂലധന േശാഷണം

a. േതയമ്ാനം b. പണെമാഴു�് c. യഥാർ� ഒഴു� d്. നിേ�പം

11. Policy taken by RBI to protected the economy from external shocks

a. sterilisation b.CRR c.SLR d.money multiplier

ബാഹ� ഇടെപടലുകൾ മൂലം സംഭവി�ു� �പത�ാഘാത�ളിൽ നി�ും സ�ാദ വ്�വ�െയ
സംര�ി�ു� റ�ി യുെട നയമാണ്

a. െ�റിൈലേസഷൻ b. CRR c. SLR d. പണ ഗുണകം

12. The rate at which one currency is exchange for another currency

a.rate of interest b. exchange rate c.rate of inflation d.unemployment rate

ഒരു കറൻസി മെ�ാരു കറിൻസി യുമായി വിനിമയം െച�െ�ടു� നിര�്

a. പലിശ നിര� b്. വിനിമയ നിര� c്. പണെ�രു� നിര� d്. െതാഴിലി�ായമ് നിര�്

Answer any six questions from 13 to 18.Eachcarries 2 scores

13. The price per unit of a commodity increases from rupees 10 to 20. As a result the demand
in the market decreases from 200 unit to 100 units based on the about information calculate
price elasticity of demand.



ഒരു യൂണി� സ്ാധന�ിെ� വില 10 രൂപയിൽ നി� 2്0 രൂപയായി വർധി�േ�ാൾ കേ�ാള�ിൽ
അതിെ� േചാദനം 200 യൂണി�ിൽ നി� 1്00 യൂണി�ായി കുറ�ു.എ�ിൽ വില ഇലാസത്ിക
േചാദനം ക�ു പിടി�ുക.

14. Graphically illustrate market equilibrium

'കേ�ാള സ�ുലിതാവ� ' �ഗാഫിെ� സഹായ�ാൽ വിശദീകരി�ുക

15. Distinguish between stock and flow

േശഖരവും �പവാഹവും ത�ിലു� വ�ത�ാസം എഴുതുക

16. Identify difficulties of barter system

ബാർ�ർ സ��ദായ�ിെ� േപാരായമ്കൾ എെ��ാം?

17. What do you mean by marginal propensity to consume

സീമാ� ഉപേഭാഗ �പവണത ( mpc) എ�ത െ്കാ� അ്ർ�മാ�ു�ത എ്�?്

18. What is the difference between devaluation and revaluation

അവമൂലനം ( devaluation) മൂല�വർധനവും ( revaluation) ത�ിലു� വ�ത�ാസം എ�?്

19. Explain now the exchange rate is fix head under the fixed exchange rate system

�ിര വിനിമയ നിര�ിൽ എ�ിെനയാണ വ്ിനിമയ നിര� ന്ിർ�യി�ു�ത?്

Answer any 5 questions from 20 to 25 each carries 3 scores

20.During the covid 19 pandemic period a there was a huge decrease in GDP of our country.
Draw this change with the help of PPC.

േകാവിഡ 1്9 മഹാമാരി കാലഘ��ിൽ ഇ��യുെട GDP യിൽ കുറവ സ്ംഭവി��. ഉതപ്ാദന
സാധ�താ വ�ക�ിെ� സഹായേ�ാെടഈ വ�തിയാനം വരയ�്ുക.

21.a. What is perfect competition?

b.list out two features of perfect competition?

a.സ�ൂർ� കിടമ�രം എ�ാൽഎ�?്

b.സ�ൂർ� കിടമ�ര കേ�ാള�ിെ�ഏെത�ിലും 2സവിേശഷതകൾഎഴുതുക

22. Complete the following

a. M1 = CU +.............

b. M2 = M1 +..............



c. M3 = ........... +..............

d. M4 = ............ +............

വി� േ്പായത പ്ൂരി�ി�ുക

a. M1 = CU +.............

b. M2 = M1 +..............

c. M3 = ........... +.............

d. M4 = ............ +............

23. Government performs various functions through budget. Write objectives of the
government budget

ഗവെ�� ബ്ഡജ്�ിലൂെട �പധാനെ�� പല ധർ��ള�ം നിർവഹി�ു�ു. ഗവെ�� ബ്ഡജ്�ിെ�
ല���ൾഏവ?

24. There are three linkages through which open economies establish economic relation with
the rest of the world explain the linkages

തുറ� സ�ദ വ്�വ�കൾ ത�ിൽ സാ��ികബ�ം�ാപി�ു�തിനു മൂ� മ്ാർഗ�ൾ

ഉ�.് വിശദീകരി�ുക.

25. Complete the flow chart

Major sectors of an economy

25. താെഴ െകാടു�ിരി�ു� ചാർ� പ്ൂർ�ീകരി�ുക

സ�ദ വ്�വ�യിെല വിവിധ േമഖലകൾ

Answer any 3 questions from 26 to 30. Each carries 4 scores

26. Explain any four factors affecting demand for a commodity

ഒരു സാധന�ിെ� േചാദനെ�ബാധി�ു�ഏെത�ിലും 4ഘടക�ൾഎഴുതുക.

27. Differentiate between short run and long run with one example each

ഹൃസ� കാലവും ദീർഘ കാലവും ഓേരാ ഉദാഹരണസഹിതം താരതമ�ം െച��ക

Households

ഗാർഹിക യൂണി�്



28. Diagrammatically illustrate the impact of price ceiling and a price floor

വില പരിധിയും താ�ു വിലയും ചി�ത�ിെ� സഹായ�ാൽ വിവരി�ുക

29. Equilibrium income is determined by aggregate demand and I'll create supply explain the
components of aggregate demand

സ�ുലിത വരുമാനം കണ�ാ�ു�ത സ്�ിത േചാദനവും സ�ിത �പദാനവുമാണ.്സ�ിത
േചാദന�ിെ� ഘടക�ൾ വ��മാ�ുക.

Answer any 3 questions from 30 to 33 each carries 5 score

30. Under perfect competition a firm will not produce output level in cases under a) P›MC and
b) P‹MC.if so what are the conditions of profit maximizing output in the SR. Give diagrammatic
illustration.

സ�ൂർ� കിട മ�ര�ിൽ ഒരു ഉതപ്ാദകൻ താെഴ പറയു� സാഹചര��ിൽ ഉതപ്ാദനം

നിർ�ിവയ�്ു�ു.

a) P› MC and b) P‹MC

അ�െനെയ�ിൽ �ഹിസ�കാല�ിൽ ലാഭം പരമാവധി ആകുവാനു� സാ��തകൾ

ഡയ�ഗ�ിെ� സഹായേ�ാെട വിശദമാ�ുക.േജാലി

31. Complete the flow chart

a.

Factors of productond

b. Identify money flow and real flow

ചാർ� പ്ൂർ�ീകരി�ുക

a.

Household Firm

ഗാർഹിക യൂണി�്



b. പണ�പവഹെ�യും യഥാർ� �പവാഹെ�യും കെ��ുക.

32. Write a note on the motives behind the demand for money

1.transaction motive

2.precautionary motive

3.speculative motive

പണം ൈകവശം വയ�്ു�തിനു പുറകിലു� േ�പരക�ൾഎെ��ാം?

1.ൈകമാ� േ�പരകം

2. മുൻകരുതൽ േ�പരകം

3.ഊഹക�വട േ�പരകം

33. Describe the important components of budget

ബഡജ്�ിെ� �പധാനെ�� ഘടക�െള വിശദീകരി�ുക.

Answer any two questions from 34 to 36.Each carries 8 marks

34. a.Identify three methods of measuring national income

b. Explain any two methods of measuring national income

a. േദശീയ വരുമാനം കണ�ാ�ു�തിനു� മൂ� ര്ീതികൾ ഏെത�ം

b.ഏെത�ിലും ര� ര്ീതികൾ വിശദീകരി�ുക

35. That are regarding production and cost structure of a firm is given below:

Output TC TFC TVC AFC MC AC AVC

0 60

1 80

2 90

�ാപനം

ഉ
ത
പ്
ാദ
ന

ഘ
ടക
�
ൾ



3 95

4 105

5 125

a. If TFC is 60 complete the table

b. On the same set of axis plot TFC, TVC, and MC

a. TFC 60ആയാൽ പ�ിക പൂർ�ിയാ�ുക.

b. TFC, TVC, MCഎ�ിവ ഒരു �ഗാഫിൽ തെ� വര� അ്ടയാളെ�ടു�ുക.

36. Given theഡയ�ഗാം

a. Identify

1) AB 2) Point E

b. Elaborate the properties of IC

c. Point C is not the equilibrium point of consumer. Do you agree? Explain.

a.ത�ിരി�ു� ഡയ�ഗ�ിൽ താെഴ ത�ിരി�ു� േപായി��കൾ ഏെത� ത്ിരി�റിയുക

1) AB 2) Pointഎെ�

b. ഉദാസീനതാ വ�ക�ിെ� സവിേശഷതകൾഎഴുതുക.



c. േപായി� C് ഉപേഭാ�ാവിെ� സ�ുലിത ബി�ുവ�.ഈ �പസത്ാവനേയാട ന്ി�ൾ

േയാജി�ു�ുേ�ാ? വിവരി�ുക.




